Final revision
Algebra

Choose the correct answer

The conjugate of the number (i — i2) IS cooererrennnnns
@1-i (b) 1 +1 (c)-1-1 di-1
o -2 P .
(1-0") = T4l —_Qeni. -
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Choose the correct answer

The conjugate of the number i°—34"is
(a) 1-31i (b) 1+3i

(.J%
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Choose the correct answer

The conjugate of the number (2 + i)? is

(a) 2 +1
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Choose the correct answer

The number —1 1S of the number 1

(a) conjugate —" (b) additive inverse —
(c) multiplicative inverse — (d) all the previous
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Choose the correct answer

The simplest form of the imaginary number i~

(a) 1

.—-3
i q
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Choose the correct answer
IfnEZ >thenit" > =
(a) 1

.Un =S
/]
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Choose the correct answer
If X = — 1 is one of the roots of the equation X% -k X-6=0 »then the sum of

the two roots =
(@) -5 (c)-6 (d) 6

2 2
(=) —k(-)Y_€ -0 x -52 -6=0

l_‘_ K—-G —o a=\ ©v:=-5 C=-6

S\W\\: -

S
K’S:o a': \:5

k=Sl
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Choose the correct answer

If L » M are the roots of the equation X2+4X+5=0
» then the value of LM + M? L =

(a) 4 (b) 20
L*M ML
AM (LM

=5 (W =-9¢
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Choose the correct answer
The quadratic equation whose roots are 4 i and — 4 i1is

(@) X2+ 16 =0 b) X2-16=0  (©)X*+8i=0 (d)x2-8i=0

Swm =(Ut) +(-4i)= Zero

Woduct- (ui)(-wo) - _\'fe\c’-z 14

2 — (Swm) 2z + Ploduch=o
761 nw (6 =0
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Choose the correct answer

If L and M are the roots of the equation X?>-5X+3=0 ,then the equation whose roots
are L+ M and LM is
—— F —N

(@ X*-8X+15=0 (b)X*-15X+8=0
(©) X*+8X-15=0 d)X*-15X-15=0

Civen (R“(‘- ‘\"‘J““
A=l Y=-5 c.3 3w = 5 ,3=]
Swe=li M. -% J (PYGJVC* : (9)(I) =\
Plodech-L A = & £3) 2 -3w) Z(Produdin

2" — R Z +\5 =0

ichae/ Gaml/
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Choose the correct answer e .d 2 é(\l
The function f (X) =7 is positive in

(@) |- o0 500 (b) [-757] (©) ]0 5 o[ @]-7,7(
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Choose the correct answer
If f(X) =_£_2_C —4 , then the function f is negative when X &
(a)R-{2} (b) [2 5 00[ (©) ]-o052[

Q2 -k =0
QX = |y

Z=2
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Choose the correct answer

If f:]-4 7 —R where f (X) =X +2 > then f (X) is negative when X €

@ ]-4,-2[ (b) J- o0 5 2[ (©) ]-2 500 @]-2,7
—

42 =20 3

¥

Y

3-u,-2L
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Choose the correct answer _ e | 2eQ

(@) X<35 (b) X>5
{0-2 2 =0

~2Z - ~\0 oo Pt et

x =9
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Choose the correct answer

The opposite figure represents the

graph of a quadratic function f

sthen f (X) <0 when X &
(@ [-1,3]

0 ]-1,3[
C©R-[-1,3]
R-]-1,3[
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Choose the correct answer

PREHIB s (in the simplest form where n is an odd number).

(a) —i" () —i~*"n (c)i "

L = U % U
;y( .3n A
- Ko X
. 3\
- () x -1
= (- Z.)“X =\
= G—\)“V\-\ L“

= (-\) )((-\) X.d\

= L“
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Choose the correct answer

iY=9Y=4 = oo

(@a)-6 (b)6i

B eI TR
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Choose the correct answer

Ifz=2—3isthenz = e
(@a)2+3i (b)-2+3i (c) 13

\ 2 %3
2 -3¢ 2+ 31
2 « 3¢
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Choose the correct answer

Ifa=4+3isb=2+31 ,thenthevalueoftheexpression:a2—2ab+b2=
D

(2) 9 (b) -1 (©)1 (d) 4

O -26b4 5. (@ b)Y

- Ly 17{.2 .;/f,)L: (’L}L: L(
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Choose the correct answer
The solution set of the equation X + ?=i*inRis
(@) {- 3} (b) {£i} (© {2}
- >

X-\=

x=2

S.§ mR=72F
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i
in use
Choose the correct answer 5 -b\“l': 5,{7\/,\’\
If6i°+5i7 =X +iy sthen X xy = £X9.= 30

(a) 11 (b) - 11 (c) 30 (d)-30

6-\-52: 7’*"3

CIRNEE
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Choose the correct answer
If(X-3)+yi=5isthen X xy=
«

(a) 15 (b)-15

X-3=0

G
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Choose the correct answer

The opposite figure represents

the function f: f (X)) =X*+b X +c

,thenb+c=--—-5~-\-6 = i
(a) 11
()5

Q= \ b: b C-C L:Z “33

S\N\'\-L\-Mz% = 5——\5 a)
(’)Yodud LM — = 6 =C -)‘
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Choose the correct answer

The opposite figure represents
thefunctionf:f(X)=aX2+bx+c

s then (b2 =4 ac) X f (3) = ---eeevveens

@3 © K{D) =10 -1
(c)-3 (d) zero
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Choose the correct answer

If the equation X? — 6 X + 9 = b has two real distinct roots » then b €
@R (b) J-050] () ] »0[ ()]0 5

7}-62-\-‘{.\) =0
As\ bs-é C:ﬁ-b

D:-¥-4aC >©°
36-4(a o) 7O

36-3£5ubo Do

L(‘o?O :.b>0

\0630( oo L
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Choose the correct answer .

In the quadratic equation a X2 + b X + ¢ = zero » if ac <0

s then the roots of the equation are

(a) real and equal. (b) real and different.

(¢) imaginary and conjugate. (d) complex and conjugate.

b*_uac xN=2

= O <~

Jve Ve _ave _oe <
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Choose the correct answer

if-9Y-4=

(@)-6




Choose the correct answer
Ifz=2-3isthenz '
(a)2+31




Choose the correct answer

Ifa=4+3isb=2+31 ,thenthevalueoftheexpression:a2—2ab+b2=

(2)9 (b)-1 (c)1 (d) 4




Choose the correct answer

The solution set of the equation X + ?=i*inRis

(@) {-3} (b) {+i} () {2}




Choose the correct answer
If6i°+5i" =X +1iy sthen X x y =
(a) 11 (b)-11




Choose the correct answer
If(X-3)+yi=5isthen X xy=
(a) 15 (b)— 15




Choose the correct answer

The opposite figure represents

thefunctionf:f(X)=X2+bX+c
sthenb+c =

(a) 11

()5




Choose the correct answer

The opposite figure represents

the function f : f (X)=a X*+bX +c
, then (b2—4ac) X f (3) = ceeeerssesnen
(a)3

(c)-3




Choose the correct answer

If the equation X — 6 X + 9 = b has two real distinct roots » then b €
(@R (b) ]~ 0] (©) ]-»0[ (d) ]0 5 0]




Choose the correct answer

In the quadratic equation a X2 +b X+ c=zero »if ac <0
s then the roots of the equation are

(a) real and equal. (b) real and different.

(¢) imaginary and conjugate. (d) complex and conjugate.
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Choose the correct answer

If (2 — 1) 1s one of the roots of the equation : X?+bX+c=0whereb sc ER
a=\ © C

(b) (-4 5—5) 9((4,-5) (d) (-4 55)

W=l
B\M-\-«-\‘\ L /‘\'Q'% =

o = v =®
PrOolvA:),M_._ (2-‘)(‘2-\-1) = -Ca

Uyl =

ichae/ Gaml/
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Choose the correct answer

If the sum of the two roots of the equation : a X> +b X + ¢ =0 equals their product

(A)a=¢ (b)b=c (c)b=-c (da=-c

2. <
/ ¥

N -o- or \o=-
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Choose the correct answer
The opposite figure represents
the curve of the function :

Y
F (X) = aX?+bX+c athenb €= 1‘5 = \

(@) 5 ‘ (b)-1
©1 )(G\\ &~ d)-5 an y*
- - X:S AM&‘.’{

/\ —
Z+()(x-5)=0 L= :H
Ll 2" uz-5-0 \w. < .5
ax xox xC =o =

ux -9 =°

> Je

Mr. Michael Gami/
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Choose the correct answer

The solution set of the inquality : X> 2 X+ 120 in R is
(a) J1 5 o00[ (b) J-o0 5 1] ©R-{1}
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Choose the correctanswer 2 x 1 = 2 — t

The conjugate of the number 21—1_1 I

(a)1-2i (b) 2 +i (c)-1-2i (d)2-i
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Choose the correct answer

2 3 +it+ . +i=

1+1

(a) 1
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Choose the correct answer

1+ (1+31)(1+iY...(1+i*) =
(a) zero (b) -1
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Choose the correct answer (® W)

I (X+2y)+(X=2y)i=3+41»then x2—4y? = Laa2y)(Z-2})
@) 1 (b) 7 ©) 12 (d) - 12

KAL) =D
-2y =4
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Choose the correct answer

2
2

Ifé kL PO NG B ,then[+m=~--’7':>""tL""3 =3
{+mi

(c)5
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Choose the correct answer
If the roots of the equation : X*> -4 X + k =0 are_real » thenk & .-

(@) [4 5] (b) J-oo 5 4] (© ]4 50 (d) ]-e0»4]

Q,S\ bs =\ Cc=X

D= B _wac 7/0

P
16-UK 2 ©
—U K 7/ —\6

\(\(k Gor—p

Ke 1 -2 ‘-(1



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil




inuse

Choose the correct answer

The real value of k which makes the equation : X2 -2 (k- 1) X +k? =0 has no real roots

O ]-=>3[ @Ftse] @]zt
b- 2K 42
b= —2(k-) c.ox

D L0
\Oz—L(aC,<o

-ZK -\-7_) L\K 40

}K/%K Y %46

- xK £ -
K>§,—_ 3

P

ichae/ Gaml/
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Choose the correct answer

If the curve of the function : f (X) = X -2 (k — 2) X + k? = 8 touches the X-axis
) then k — T

(a)-3 (b)-2 (c)2 (d) 5

0L=\ b:-?,Kf U C = K.L-%
DO = B —L(Q,C =0
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Choose the correct answer

If L » M are the roots of the equation : X’ + X+c=0and L+ M =2 LM
athenC= ...............

@2 (b) -2
az\
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Choose the correct answer

If L and M are the roots of the equation : X>—2X+4=0 , then\/f+ M=
(a) 1 ®16 (c)2 @2

ca=\ v c-oy (W*RY=6

L.N:=22 -2
) =L AR AWV

[+

M-S -
o 2 «2\y
2Lyw =6

)
-

-

-
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Choose the correct answer

If L 55— L are the two roots of the equation X* +a X -8 =0 »then a =
(a5 (b) -5 (c) 8 (d) -8

/ﬁ-
>
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Choose the correct answer

If L and % are the two roots of the equation : a %2 + B X+ 12=0 s THEN 4= wosssonses
(b) 4 (©) 6 (d) 12
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Choose the correct answer

If one of the roots of the equation : 3 X?— (k +2) X + k> + 2k =0 is multiplicative
: NN
inverse of the other sthenk =+ oeee.

(a)—3,1 (b)—39—1 (C)39—1 (d)3,1

>
3 :K"’-& 2K
Ka2K R =0
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Choose the correct answer

If one of the roots of the equation : X>—m X + 8 =0 is square of the other root
L) then I = cevovevononconns

(2) -6 -2 (©) 2 d) 6

L,L" 2,4
VW) -S
V-3
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Choose the correct answer
If L is one of the roots of the equation : X?+6X+10=0 »then (L + 3)2 = eeeeeennenns
(a)-5 (b) -3 (©)-2 d -1

1h6lyloso 4D =V 9

YLQ‘A\-éL: -\ox = :io x4
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Choose the correct answer

If%,ﬁarethetworootsoftheequation:4x2—8x+1=O sthenL+ M =

(a) 6 (b)8 (c) 16 (d)2
azl
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Choose the correct answer

The opposite figure represents the function f

from the second degree where f (X) = o o B, +£—_1_
sthenk =

(a) 2
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Choose the correct answer

If one of the roots of the equation : X? — (k* - 6 k + 9) X — 8 = 0 is additive inverse of the
Other ) then k = ssvEcieaveses

(a) zero (b) 3 ()9 (d)-3




Choose the correct answer

If L » M are the two roots of the equation : X* — 8 X + ¢ =0 and L?+M?=40
sthenc =

(a) 8 (b) 10 (c) 12 (d) 14




Choose the correct answer

If the ratio between the two roots of the equation : X 2_kX+6=0is2:3
» then the value of k =

(a)+5 (c)2 (d) 6




Choose the correct answer

IfL—-1 sM—1 are the roots of the equation : X?-3X-6=0 »then the equation whose
roots are L s M is

() X>-2X-5=0 (b)X*-5Xx-2=0
() X2+2X-2=0 @A) X*+5X+2=0




Choose the correct answer
The function f : f (X) = (2 — X) (X — 3) is positive in the interval
@) ]-2 53] ®) ]2 53[ C©R-[-253] @@]-3,2]




Choose the correct answer

The function f (X) = X — 4 is not positive in the interval
(a) [-2 52] ® ]-2,2[ C©R-]-252[ @R-[-2,2]




Choose the correct answer
) =X=2sg(X) = X% -5 X - 6 both are negative in the interval
(a) ]6 5 oo (b) ]-152] ©]-es-2[ (@][26]




